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3HQHOLWLDQ� LQL�EHUWRODN�GDUL� WHPXDQ�EHUEDJDL�SHODQJJDUDQ�\DQJ� WHUMDGL�SDGD�
VDDW� NDPSDQ\H� GDQ� SHPXQJXWDQ� VHUWD� SHQJKLWXQJDQ� VXUDW� VXDUD�� ,QGLNDVL�
SHODQJJDUDQ� \DQJ� GLWHPXNDQ� VHSHUWL� NDPSDQ\H� \DQJ� WLGDN� VHVXDL� GHQJDQ�
SHUDWXUDQ� .38� VHUWD� $61� \DQJ� WLGDN� QHWUDO�� 'DUL� SHUPDVDODK� WHUVHEXW� GDSDW�
GLSHUWDQ\DNDQ� EDJDLPDQD� NLQHUMD� %DGDQ� 3HQJDZDV� 3HPLOX� �%DZDVOX�� .RWD�
3DGDQJ� GDODP� PHODNVDQDNDQ� WXJDV� GDQ� ZHZHQDQJQ\D�� 3HQHOLWLDQ� LQL�
PHQJJXQDNDQ� WHNQLN� NXDOLWDWLI� \DQJ� EHUVLIDW� GHNULSWLI�� ,QIRUPDQ� \DQJ� GLSLOLK�
GDODP�SHQHOLWLDQ� LQL�PHQJJXQDNDQ� WHNQLN�SXVSRVLYH� VDPSOLQJ� \DLWX�.RRUGLQDWRU�
'HYLVL�3HQLQGDNDQ�3HODQJJDUDQ�%DGDQ�3HQJDZDV�3HPLOX��.HSDOD�'HYLVL�+XNXP�
GDQ�3HQJDZDV�.38��3HQJDPDW�3ROLWLN�.RWD�3DGDQJ�GDQ�PDV\DUDNDW��3HQHOLWLDQ�LQL�
PHQJJXQDNDQ� GDWD� SULPHU� GDQ� VHNXQGHU� \DQJ� GLNXPSXONDQ� PHODOXL� WHNQLN�
ZDZDQFDUD� GDQ� VWXGL� GRNXPHQWDVL�� $QDOLVLV� GDWD� � SHQHOLWLDQ� LQL� PHQJJXQDNDQ�
WHNQLN�DQDOLVD�GDWD�PRGHO�0LOOHV�GDQ�+XEHUPDQ�\DLWX�UHGXNVL�GDWD��SHQ\DMLDQ�GDWD�
GDQ� SHQDULNDQ� NHVLPSXODQ�� 3HQJXMLDQ� NHDEVDKDQ� GDWD� PHQJJXQDNDQ� WHNQLN�
WULDQJJXODVL� VXPEHU� \DLWX� GHQJDQ�PHPEDQGLQJDQ� GDQ�PHQJHFHNDQ� EDOLN� GHUDMDW�
NHSHUFD\DDQ� DWDX� LQIRUPDVL� \DQJ� GLSHUROHK�PHODOXL RUDQJ�RUDQJ� VHEDJDL� VXPEHU�
\DQJ� EHUEHGD� 'DUL� KDVLO� SHQHOLWLDQ� PHQXQMXNNDQ� EDKZD� WXJDV� %DZDVOX� OHELK�
EDQ\DN� PHODNXNDQ� SHQFHJDKDQ� GDUL� SDGD� SHQLQGDNDQ� EDLN� LWX� SDGD� PDVD�
NDPSDQ\H�DWDXSXQ�SHPXQJXWDQ�SHQJKLWXQJDQ�VXUDW�VXDUD�NDUHQD�%DZDVOX�GDODP�
PHQJHNVHNXVL� ODQJVXQJ� NDVXV� SHODQJJDUDQ� WLGDN� GLSHUWHJDV GDODP� XQGDQJ�
XQGDQJ�� $SDELOD� WHUMDGL� SHODQJJDUDQ� %DZDVOX� KDUXV� EHUNRRUGLQDVL� GHQJDQ�
VWDNHKROGHU�WHUNDLW��
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